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Whiteboard Review for Unit 1 Test
L Simplify  (3x—2)+(2x” —5x +8)

= 3 x~- 2 +2xE_Sx+§¥
= Ax* L2+ 6
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2. Simplify (332 —5)? — (2x* + 5x—4)

- (3&—5)(393“—5) —@al+g”< )

= 79:1 ‘30/}&2 "['QS ‘QO\Q— S/>< + L"

o~ o~
- -,

= ?XV—BQ«:‘*S& + 29
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3. Determine if the following polynomials are equivalent.
Note: What are the two methods? Do they always work?

a. 3(x" —4x+2) b. 2(x” +4x —8) +5(x* +1)— (4x +15)

= 3o -12xt6 22t Gt 1L+ SN 4S Y= 'S
= B[22 1 L

. The two 2 (7r\bw\i«l3 «re the
Som< wl\ii\ S':'”\/a,:p'-fo( Tl\fy arc
'QZO\'H/QIQV\T
N ote: Yo could alSé SO\L N G Amber
Yo beth <quokions. This methed is
“-“c“/""*)"“t (a/‘ sLow'nr\J Ine "\.IVG._(MC
}DLC\' ’(°'<S"‘+ </wo->/s wak 'Ca/:l 'eZl«'le(/MC\/.
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4. Simplify each of the following

a. 3xy’ x—2x"y’
03,5

—?x”/’ -

b. Z)Zyx_sxy* - __S'zl

X £0O
y#o
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5. Factor each polynomial

a. 4x* -16

(9??- % ) (.293‘4— ‘-D

c. 6x*+5x—4
A
I

b. gh+h’ +6a+6b

(&« N Gxr9) (s /. ) (=5 +22)

L(&J:A)-r /A (L-f—é)
(_J:L>(/o+c\

y *+9-6y— x
_3) e

26y +

BNQ?‘33
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6. Simplify. 3n° —3n?
8n° — 121+ 4n
2 A, C
= 3 h (h - () ( A\

“a (Qn1—3ﬂ+l> 2|

= 3. ()
LLK(/H‘/D («lr\—‘\

= é’\ ( No Lr«d&(\-s
H4Q@n=1) & brackets
n#o ' é Qan-|=0
) ) on=|
h=1
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7. Expand and simply

x’—4

X +9x+18

X
(x+6)°

= ¢f</361+a3

4—-2x

(x +3) (eFT)

oty (x1e)
=(”<“°~)(f><+“s)
e SVARE
= x4+ 3t Ant 6
‘Qf%+q
:&Q+S_9<+é
IRGEANE

x¥

SV 3.3

X F-6,2
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8. Simplify.

3x° -2y’
N
X 2xy X

3

_é__z Zi ty
g’ “;, l/xﬁ_
= é ng-r«&-,_é/
&'A}L_v *é
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9. Simplify BEDMAS
Sm—n 4m’—4mn+n’ ,6m" —mn—n’
dm+n  Am*—n’ 3m+15n h¢’2'~‘)
L TSF / 2 \-'2— f}"'ll

) j’“" — Rn-A(@n-n) ;(RM—h\(%“)

mn (an‘n)(.?n+n) | 3(mt5n) -
TG T R | Sloasy

(2@ ¥ () (3

=Sm-n 3(’”‘\1‘Sr\>
2m + h (D\M+7)(3‘,.\+,\T
=(S~"\V3’\*’l _ 3 (m+5a)
(Qm+r\)(3"\+ A (2t n) ( 3m +h)
= IS'M°‘+S»\-\‘?>»\I\-—/\°* —3r—\“|S_.-\
(Q,.\-I-rxs (2t ) -
= ,S—hl—f\l-l-;r'\*\"z”“,g’\

@m+’\>(3m-rr\\ o
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